

OFFICE OF THE CHIEF EXECUTIVE OFFICER AN IS/ISO 9001:2008 CERTIFIED ORGANISATION

Siliguri Jalpaiguri Development Authority (SJDA)

Tenzing Norgey Road, Pradhan Nagar, Siliguri, Dist: Darjeeling, Pin – 734 003

Phone: (0353) 2512922, 2515647, Fax: (0353) 2510056, e-mail: sidawb@gmail.com Web: www.sjda.org

Memo No.: 1669 J Adm 579 19 /SJDA

Dated: 28, 05.19

NOTICE INVITING ONLINE TENDER (e - TENDER) NO. 01/ADMN/FURNITURE / 2019-2020 OF SJDA

Chief Executive Officer, Siliguri Jalpaiguri Development Authority (SJDA), Siliguri invites ONLINE BID (E – BID) of the following works.

1. Name of Work: Procuring of furniture for the Industrial Tribunal & Labour Court, Govt. of West Bengal at Sahid Bhagat Singh Commercial Complex, Sevoke Road, Siliguri.

SI. No.	DESCRIPTION	Qty.	Unit Rate (Rs.)	Amount (Rs.)
	Furniture's for BAR ASSOCIATION (Godrej make)			
1	Table Model : Elan Veneer Main Desk (Size : 1500 X 750 X 750)MM	1	42,013.00	42,013.00
2	Lawyers Chair, Model : Ace Mid Back	10	21,277.00	212,770.00
3	Visitor Chair, Model : Motion	10	7,255.00	72,550.00
4	Storage-Model- 4 Drawer Filing Cabinets (1320Hx470Wx620D)	4	21,417.00	85,668.00
	Furniture for JUDGE'S ROOM - 1 (Godrej Make)			
1	Table, Model : Finnesse - 6030 with Pedestal (Size : 1800 X 900 X 740)MM	1	36,751.00	36,751.00
2	Computer Table, Model : Stylo (Size : 1200 x 600 x 750)MM	1	12,195.00	12,195.00
3	Judges Chair, Model : Ace with Headrest	1	22,736.00	22,736.0
4	Visitor Chair, Model : Motion	5	7,255.00	36,275.00
5	Storage-Model- 4 Drawer Filing Cabinets (1320Hx470Wx620D)	1	21,417.00	21,417.00
6	Computer Chair, Model : Diva 7046R	1.110	5,820.00	5,820.00
7	Storage, Model : 4 Dr. Bookcase (Size : 742Hx914Wx320D) MM	1	27,983.00	27,983.00

SI. No.	DESCRIPTION	Qty.	Unit Rate (Rs.)	Amount (Rs.)
8	Storage-Model-Storwel Plain (1981H x 916W x 486D)	1	22,286.00	22,286.00
Fige _	Furniture for P.A'S ROOM - 1 (Godrej Make)			ten de la companya d
40 ¹ 000	Table-Model-Finness-4020 (1200W x 600D x 740H) With Pedestal	1	24,541.00	24,541.00
2	Computer Table, Model : Stylo (Size : 1200 x 600 x 750)MM	1	12,195.00	12,195.00
3	Chair-Model : Bravo Mid Back	1	8,778.00	8,778.00
4	Visitor Chair, Model : Motion	2	7,255.00	14,510.00
5	Storage-Model-Storwel Plain (1981H x 916W x 486D)	1	22,286.00	22,286.00
6	Storage-Model- 4 Drawer Filing Cabinets (1320Hx470Wx620D)	1	21,417.00	21,417.00
7	Computer Stool , Model : Revolving Stool Mch Ht Adj + Back	1	4,061.00	4,061.00
	Furniture for COURT ROOM- 1 (Godrej make)			
1	Table, Model : Finnesse - 6030 with Pedestal (Size : 1800 X 900 X 740)MM	1	36,751.00	36,751.00
2	Executive Chair, Model : Ace with Headrest	2	22,736.00	45,472.00
3	Clerk Table, Model: Finnesse Table - 5026 Set (Size: 1500 X 750 X 740)MM	1	46,212.00	46,212.00
4	Clerk Chair, Model : Bravo Mid Back	2	8,778.00	17,556.00
5	Lawyers Table, Finnesse - 6030 with Pedestal (Size : 1800 X 900 X 740)MM	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	36,751.00	36,751.00
6	Lawyers Chair, Model : Ace Mid Back	4	21,277.00	85,108.00
7	3 seater Visitor, Model : Matrix 3 seater with Common Arms	10	18,965.00	189,650.00

SI. No.	DESCRIPTION	Qty.	Unit Rate (Rs.)	Amount (Rs.)
	Furniture for OFFICE CUM RECORD ROOM -1 (Godrej Make)	T total		
1	Table-Model-Finness-4020(1200W x 600D x 740H) With Pedestal	4	24,541.00	98,164.0
2	Chair, Model : Bravo Mid Back	8	8,363.00	66,904.0
3	Storage-Model-Storwel Plain (1981H x 916W x 486D)	5	22,286.00	111,430.0
4	Storage-Model- 4 Drawer Filing Cabinets (1320Hx470Wx620D)	5	21,417.00	107,085.0
	Furniture for JUDGE'S ROOM - 2 (Godrej Make)	locate	Compress	
1	Table, Model : Finnesse - 6030 with Pedestal (Size : 1800 X 900 X 740)MM	1	36,751.00	36,751.0
2	Computer Table, Model : Stylo (Size : 1200 x 600 x 750)MM	1	12,195.00	12,195.0
3	Judges Chair, Model : Ace with Headrest	1	22,736.00	22,736.0
4	Visitor Chair, Model : Motion	4	7,255.00	29,020.0
5	Storage-Model- 4 Drawer Filing Cabinets (1320Hx470Wx620D)	1	21,417.00	21,417.0
6	Computer Chair, Model : Diva 7046R	1	5,820.00	5,820.0
7	Storage, Model : 4 Dr. Bookcase (Size : 742Hx914Wx320D) MM	1	27,983.00	27,983.0
8	Storage-Model-Storwel Plain (1981H x 916W x 486D)	1	22,286.00	22,286.0
	Furniture for P.A'S ROOM - 2 (Godrej make)	3 83 8	O voil encountried in	
1 (Table-Model-Finness-4020 (1200W x 600D x 740H) With Pedestal	1	24,574.00	24,574.0

SI. No.	DESCRIPTION	Qty.	Unit Rate (Rs.)	Amount (Rs.)
2	Computer Table, Model : Stylo (Size : 1200 x 600 x 750)MM	1	12,195.00	12,195.00
3	Chair-Model : Bravo Mid Back	1	8,778.00	8,778.00
4	Visitor Chair, Model : Motion	2	7,255.00	14,510.00
5	Storage-Model-Storwel Plain (1981H x 916W x 486D)	1	22,286.00	22,286.00
6	Storage-Model- 4 Drawer Filing Cabinets (1320Hx470Wx620D)	1	21,417.00	21,417.00
7	Computer Stool , Model : Revolving Stool	1	4,061.00	4,061.00
	Furniture for COURT ROOM- 2 (Godrej make)	GORGE LA		
1	Dias Table For Judges-Model- Finnesse Table-6030 (1800W x 900D x 740H) with Pedestal	1	36,751.00	36,751.00
2	Executive Chair, Model : Ace with Headrest	2	22,736.00	45,472.00
3	Clerk Table, Model: Finnesse Table - 5026 Set (Size: 1500 X 750 X 740)MM (Size: 1500 X 750 X 740)MM	_3,1 _{16.5}	46,212.00	46,212.00
4	Clerk Chair, Model : Bravo Mid Back	2	8,778.00	17,556.00
5	Lawyers Table, Finnesse - 6030 with Pedestal (Size : 1800 X 900 X 740)MM	1 16	36,751.00	36,751.00
6	Lawyers Chair, Model : Ace Mid Back	4	22,736.00	90,944.00
7	3 seater Visitor, Model : Matrix 3 seater with Common Arms	15	18,965.00	284,475.00
	Furniture for OFFICE CUM RECORD ROOM -2 (Godrej make)	8 4.1	of endings	
1	Table-Model-Finness-4020 (1200W x 600D x 740H) With Pedestal	4	24,574.00	98,296.00

SI. No.	DESCRIPTION	Qty.	Unit Rate (Rs.)	Amount (Rs.)
2	Chair, Model : Bravo Mid Back	8	8,778.00	70,224.00
3	Storage-Model-Storwel Plain (1981H x 916W x 486D)	7	22,286.00	156,002.00
4	Storage-Model- 4 Drawer Filing Cabinets (1320Hx470Wx620D)	5	21,417.00	107,085.00
	TOTAL ESTIMATED COST (including 18 % GS	ST) in Ru	ıpees	Rs 28,23,132.00

- 2. E- Filing: In the event of e-Filing intending bidder has to download the bid document from the website http://wbtenders.gov.in directly by the help of Digital Signature Certificate. (Details of which has been narrated in "Instruction to Bidders").
- 3A.Period of completion:20 (Twenty) days from the date of issue of the Work Order.
- **3B.** Quoting of Rate: While putting the rate it is to be kept in mind that all taxes including GST as applicable will be added to that amount as per Govt. rules.
- 4.Earnest Money (EMD): Earnest Money amounting to Rs. 2.00 (Two lakh) lakh to be submitted online in favour of the Chief Executive Officer, Siliguri Jalpaiguri Development Authority (To be converted into Security Deposit on selection of successful bidder and will be refunded after one year term). At the time of uploading the E-Bid, the intending bidder should select the Bid and initiate payment of pre-defined EMD for that Bid by selecting from either of the following payment modes:
- i) Net banking (any of the banks listed in the ICICI Bank Payment Gateway) in case of payment through ICICI Bank Payment Gateway.
- ii) RTGS/NEFT in case of offline payment through bank account in any bank with his/ her tender/ bid as per Memorandum No.3975-F (Y) dated.28/07/2016 of Secretary to the Govt. of West Bengal, Finance Department. The L1 bidder shall make the Formal Agreement after getting the letter of acceptance (LOA) issued by the Bid Inviting Authority. Failure to make the formal agreement within the time period as prescribed in the Letter of Acceptance (LOA) for the purpose, may be construed as an attempt to disturb the tendering/ bidding process and will be dealt with accordingly in a legal manner as deemed fit including blacklisting the bidder.
- 5. Eligibility criteria for participation in bid:
 - a. Credential: The prospective bidders shall have satisfactorily completed as a prime agency during the 03 (Three) years prior to the date of issue of this work of similar nature of SJDA or of other State/Central Govt. Deptt or statutory body, Zilla Parishad, Mahakuma Parishad, Panchayat samiti or Municipality with value not less than Rs. 20.00 (Twenty) lakhs.
 - b. Trade license (Updated)

c. Payment Certificate covering credential value Rs.20.00(Twenty) lakh only.

d. Income Tax Acknowledgement receipt for Assessment year 2018-19

e. Professional Tax Receipts Challan for the year 2018-19

f. Copy of PAN Card.

g. GST papers as per Govt. Rule.

h. The partnership firm shall furnish the registered partnership deed.

i. COMPANY (Public /Private/partnership) Farm will furnish following documents:

1. Registration Certificate under Company Act. (if any).

2. Registered Deed of partnership Firm/ Article of Association & Memorandum

3. Power of Attorney (For Partnership Firm/ Private Limited Company)

6. All taxes as applicable as per Govt. Rule will have to be borne by the agency.

7. Date & Time Schedule:

Sl. No	Particulars	Date & Time
1	Date and time of Publishing of Bid (online)	29.05.2019 at 4.00 pm
2	Bid documents download and uploading of bid start date and time(online)	29.05.2019 at 4.00 pm
3	Bid proposal download &Uploading ended date & time (online)	14.06.2019 at 4.00 pm
4	Bid opening date for Technical Proposal (online).	17.06.2019 at 11.00am
5	Bid opening date for Financial Proposal (online).	Will be declared after technical evaluation.

- 8. Defaulter agencies w.r.t any works awarded earlier by SJDA will not be considered for the works.
 - 9. The Bidder, at the Bidder's own responsibility and risk is encouraged to visit and examine the site of works and its surroundings and obtain all information's that may be necessary for preparing the Bid and entering into a contract for the work as mentioned in the Notice Inviting Bid, the cost of visiting the site shall be at the Bidder's own expense.
 - 10. The intending Bidders shall clearly understand that whatever may be the outcome of the present invitation of Bids, the Chief Executive Officer, Siliguri Jalpaiguri Development Authority reserves the right to reject any application for participating in the Bid and to accept or reject any offer without assigning any reason whatsoever and is not liable for any cost that might have incurred by any Bidder at the stage of Bidding.
 - 11. Prospective applicants are advised to note carefully the minimum qualification criteria as mentioned in 'Instructions to Bidders' before bidding
 - 12. No CONDITIONAL/ INCOMPLETE TENDER will be accepted under any circumstances.
 - 13. In case of Quoting rate, no multiple rate for each item will be entertained by the SJDA.
 - 14. The Chief Executive Officer, Siliguri Jalpaiguri Development Authority reserves the right to cancel the N.I.B. due to unavoidable circumstances and no claim in this respect will be entertained.
 - 15. During scrutiny, if it is come to the notice to bid inviting authority that the credential or any other papers found incorrect/manufactured/fabricated, that tenderer will not be allowed to participate in the tender and that application will be out rightly rejected without any prejudice.
 - 16. Before issuance of the work order, the Bid inviting authority may verify the credential & other documents of the lowest bidder if found necessary. After verification, if it is found that such documents submitted by the lowest

bidder is either manufactured or false in that case, work order will not be issued in favour of the lowest bidder under any circumstances.

- 17. The engagement may be cancelled any time without compensation in the event of Natural calamities, War, Govt. Direction etc or for any such events beyond the control the Authority, or where the agencies entrusted / engaged in illegal/unlawful activity in the said location/premises.
- 18. Payment for the work will be released on submission of bill after completion of the work satisfactorily.
- 19. Refund of EMD: The Earnest Money of all the unsuccessful Bidder will be refunded
- 20. The bidder shall have to comply with the provisions of (a) the contract labour (Regulation Abolition) Act. 1970(b) Apprentice Act. 1961 and (c) Minimum Wages Act. 1948 of the notification thereof or any other laws relating thereto and the rules made and order issued there under from time to time.
- 21. Earnest money of successful lowest bidder will be converted into Security deposit and will be released after 01(one) year of the date of completion of the work.
- 22. After receiving Work Order, the successful lowest bidder will also has to sign an agreement with the Chief Executive Officer, Siliguri Jalpaiguri Development Authority on requisite stamp. The bid documents along with other Terms and Conditions shall form part of the agreement and the Successful Bidder shall be bound himself / themselves to abide by the same. The undersigned shall also reserve the right either to accept or reject any or all the bids without assigning any reason whatsoever.

SPECIAL TERMS AND CONDITIONS

- 1. Bidders must go through the E-Bid Notice before participating online.
- 2. Incomplete bid document will be rejected. No conditional bid rates will be entertained.
- 3. As per BID submitted by online, successful lowest bidder will be given acceptance and work order by the CEO, SJDA to complete the work. But the accepting authority has the right to accept the lowest Bid or any other bid or to reject all of them without assigning any reason.
- 4. Siliguri Jalpaiguri Development Authority reserves the right to terminate the Work order /contract at any time without assigning any reason to the successful lowest bidder whatsoever.
- The successful lowest bidder shall carry out instructions that may be issued by the Chief Executive Officer,
 Siliguri Jalpaiguri Development Authority or her representative as when required.
- During the period of completion of the work any damages occurred to the Govt. properties would have to repaired by the successful lowest bidder at his own cost and upto the satisfaction of the Siliguri Jalpaiguri Development Authority.
- 7. The SJDA shall not bear any responsibility related to i) any insurance claim ii) Theft/ robbery/ loss iii) any legal hazards. Any claim related to complete the work shall be bound by the successful bidder at his/her own responsibility ending.

Chief Executive Officer
Siliguri Jalpaiguri Development Authority

Memo No. 1669/1(7) /SJDA

Dated: 28.05.19

Copy forwarded to :-

- 1. The District Magistrate, Darjeeling
- 2. The District Magistrate, Jalpaiguri
- 3. The AEO, Siliguri MahukumaParishad
- 4. The AEO, Jalpaiguri Zilla Parishad
- 5. The Sub-Divisional Officer, Siliguri.
- 6. The A. P., SJDA, for uploading in SJDA website.
 - 7. Notice Board, SJDA, Siliguri.

Chief Executive Officer
Siliguri Jalpaiguri Development Authority

INSTRUCTION TO BIDDERS

1. General guidance for e-Bidding

Instructions/ Guidelines for bidders for electronic submission of the bid online have been annexed for assisting the agencies to participate in e-Tendering

2. Registration of Bidder

Any bidder willing to take part in the process of e-bidding will have to be enrolled & registered with the Government e-Procurement system, through logging on to https://wbtenders.gov.in. The agency is to click on the link for e-Tendering site as given on the web portal.

3. Digital Signature certificate (DSC)

Each bidder is required to obtain a class-II or Class-III Digital Signature Certificate (DSC) for submission of tenders, from the approved service provider of the National Information's Centre (NIC) on payment of requisite amount details are available at the Web Site stated in Clause 2 of Guideline to tenderer DSC is given as a USB e-Token. Where an individual person holds a digital certificate in his own name duly issued to him against the company or the firm of which he happens to be a director or partner, such individual person shall, while uploading any tender/ bidder for and on behalf of such company or firm invariably upload a copy of registered power of attorney showing clear authorization in his favour, by the rest of the directors of such company or the partners of such firm to upload such bidder. The power of attorney shall have to be registered in accordance with the provisions of the Registration Act, 1908.

- 4. The agency can search & download NIB & Bid Documents electronically from computer once He/she logs on to the website mentioned in Clause 2 using the Digital Signature Certificate. This is the only mode of collection of E-Bid documents.
- 5. Submission of E –BidE- Bid is to be submitted through online in two folders at a time, one in Technical Proposal & the other is Financial Proposal before the prescribed date & time using the Digital Signature Certificate (DSC). The virus scanned copies of Digitally Signed documents are to be uploaded. The documents will be submitted as follows.

A. Technical proposal

The Technical proposal should contain scanned copies of the following two folders

A-1. Statutory folder Containing

Application in letter headed pad.

II. Credential documents as stated above.

III. Receipt of Earnest money Deposit (EMD) in favour of the Chief Executive Officer, Siliguri Jalpaiguri Development Authority.

NIB (Download & upload the same after Digitally Signed).

V. Special Terms & condition (Download & upload the same after Digitally Signed)

VI. Trade license (Updated)

- VII. Payment Certificate covering credential value Rs.20.00 (Twenty) lakh only.
- VIII. Income Tax Acknowledgement receipt for Assessment year 2018-19
- IX. Professional Tax Receipts Challan for the year 2018-19

X. Copy of PAN Card.

XI. GST papers as per Govt. Rule.

XII. The partnership firm shall furnish the registered partnership deed.

XIII. COMPANY(Public /Private/partnership) Farm will furnish following documents:

1. Registration Certificate under Company Act. (if any).

2. Registered Deed of partnership Firm/ Article of Association & Memorandum

3. Power of Attorney (For Partnership Firm/ Private Limited Company)

- XII. An affidavit stating the correctness of all documents submitted in the instant E-Bid duly signed before NOTARY/Executive Magistrate.
- A-2. Non statutory Cover containing any documents desired by the agency may be uploaded.

Note-Failure of submission of any of the above mentioned documents as stated above will render the tender liable to summarily rejected for both statutory & non statutory cover.

B. Financial Proposal: For the financial proposal, the contractor is to quote the rate online through computer in the space marked for quoting rate in the BOQ. In case quoting any rate except in BOQ the bid liable to summarily rejected.

6. Bid evaluation

- Opening of Technical proposal: Technical proposals will be opened by the Chief Executive Officer, or his authorized representative electronically from the web site stated using their Digital Signature Certificate.
- ii. Folder of statutory documents should be opened first & if found in order, Folder for non-statutory documents will be opened. If there is any deficiency in the statutory documents the tender will summarily be rejected.
- While evaluation the Chief Executive Officer may summon the bidder & seek clarification / information or additional documents or original hard copy of any of the documents already submitted & if these are not produced within the stipulated time frame, their proposals will be liable for rejection.

7. Penalty for suppression / distortion of facts

If any bidder fails to produce the original hard copies of the documents (especially Credential Certificate) or any other documents on demand of the Chief Executive Officer within a specified time frame or if any deviation is detected in the hard copies from the uploaded soft copies or if there is any suppression, the bidder will be suspended from participating in the tenders/ bid on e-Tender platform for a 3 (three) years. In addition, his/ her user ID will be deactivated and Earnest money deposit will stand forfeited besides, the SJDA may take appropriate legal action against such defaulting bidder as per law.

8. Rejection of bid

The bid inviting authority reserves the right to accept or reject any Bid and to cancel the Bidding processes and reject all Bids at any time the prior to the award of Contract without thereby incurring any liability to the affected Bidder or Bidders or any obligation to inform the affected Bidder or Bidders of the ground for Employer's action.

N.B.: The Bidder whose Bid has been accepted will be notified by the SJDA. The Letter of Acceptance will constitute the agreement and all the Bid documents including NIB & B.O.Q. will be the part of the agreement.

Registered Dood of his trace ship 12 per Amelon Association & Memoran Power of Attempts Food Parter and Final Payons Limited Company

Chief Executive Officer
Siliguri Jalpaiguri Development Authority